Comment #326, #182, #184 resolution.

Make the changes in the following order:

1) make changes to the following 3 diagrams as sketched

Figure 97-2
Technolegy Dependent Inieface (Clawse 07 6 and 0B)
.
Ii 5 -
PAA_UMITDATA request E : i
) Ttx_symits)
ix_lIpi_sclive 5. 5 E'
- ————— — . 5 g8
GTX_CLE PCS _-:-
TRANSMIT |4 I
THD=T 0= |
|
TX_EN %+ = '"“"'I
TH_ER | »
+ | o  PHY
config "] CONTROL
é L]
> % | <
[
E 2 |
> =
o |
s £ |
@
= S, I
x LINK g
| » MOMITOR ¢
PCS OAM |« |
T T EES E
3 T PMA 5
> ® - | | TRAMSMIT S,
3 © 8 X
S K o | =
= |
_8| El 1 | §
& S, I Link 2
: | syn >0
| Chron
RX_CLK | ization |-a—
< RXD<T0 | '
PCS Lo ] e ] =
Reov | mecene | _ _ _ _|mfeece 1T L1 | -
- rem_row stabes { rerm_phy_resdy PhAA
”i ER Woc rowr Stabes
- , Status [ S6r_sialus N RELEWE
PRA_UNITDATA nvication
(rx_gymits)
received_clock
| .,
GIGABIT MEDIA ] cock MEEDILIA
PMA SERVICE # RECOVERY
IMDEPENDENT INTERFACE DEPEMDENT
INTERFACE INTERFACE
(GhalT) F (haD)
4 b PiiA
PHY

o

(NCLUDES PCS AND PMA)




Figure 97-4
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Figure 97-4—PCS reference diagram



Figure 97-15
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2) Implement comment #326 first per comment resolution next.

3) Move entire 97.6 to 97.4.2.6. Current 97.4.2.6 and 97.4.2.7 becomes 97.4.2.7 and 97.4.2.8

4) Move entire 97.7 to 97.3.8.
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